Efficiency vs P,

0.0 :
2 : : :
D009 -+++eeeieeeeenne SRR RRIE e
> N N H
20,008+ +veeerieeeeeene R e
o : : :
00007/ SETREUREE RIS R RRIE e
V) H N
0.00Bf-++++eeerieeneeene R e
0005 -++-eesiereeeenne R RRIE e
0.004F - B Beeeeeeeend e
0.003F -4 - + ------------ SRR e
0.002:—---+--+ % ------------ SRS e

0.001F+++-eeerieenrenne R e

1.0

TT T T [TTT1
&
F4
P

Ratio

o
©
a

=
o
iN

1 10 . Gedf’

—=— DQM_V0001_R000000001__Global__mkFiti100i0__RECO
—— DQM_V0001_R000000001__Global__mkFiti1000mod__RECO

=0.01
[
2.009
(8]
9.008
5}
£.007
()
0.006
0.005
0.004
0.003
0.002
0.001
.0

—
—
—=
=
0

&
——

Ratio

[y

o
©
a

rrrrrrrrrrrm
S
(@]
=
N
w

Efficiency vs ¢

o 0.0] - T T
4 : : : : : :
Q.OO9-— """" T o o A
(8] . . . . . .
$.008F------- P P P e
o : : : : : :
0.007 - P P P e
o : : : : : :
0.006f------- P P P S

||'-||||

TP @



	Contents
	Page 1


